Heel Loops and Toe Loops

Heel Loop wi
Ankle Strap for
AT5542/AT5042/AT5043

f— ]

Heel Loop w/
Ankle Strap for
1651/A1562/A1564

1 b/i\ﬁ . !
Heel Loop for & Toe L f
oe Loop for
AT5542/AT5042/AT5043 Heel Loop for ® All Footplates
1651/A1562/A1564
1651 Composite
Heel Loop w/ | Heel Loop w/ | Heel Loop w/ Attaching
Fog;g:aate Hseiil ngp HeF;eéIliIr_(zﬁop Ankle Strap Ankle Strap Ankle Strap Hardware
9 Single # - Right| Single # - Left Pair # Pair #

Small 1025234-NLA 1035905 1035908-NLA | 1035909-NLA 1035906 1035931
Medium 1017621 1035917-NLA 1035919 1035920 1035918 1035931
Large 1027000 1035929 1035932-NLA | 1035933-NLA 1035930 1035931




Heel Loops and Toe Loops
A1562 Aluminum

Footplate Heel Loo Heel Loo Heel Loop w/ | Heel Loop w/ | Heel Loop w/ Attaching
Sige Sinale #p Pair # P Ankle Strap Ankle Strap Ankle Strap Hardware
9 Single # - Right] Single # - Left Pair # Pair #
Small (Jr. Only)| 1025234-NLA 1035905 1035908-NLA | 1035909-NLA 1035906 1035931
Medium 1017621 1035917-NLA 1035919 1035920 1035918 1035931
Large 1027000 1035929 1035932-NLA | 1035933-NLA 1035930 1035931
A1564 Extra Large
Heel Loop w/ | Heel Loop w/ | Heel Loop w/ Attaching
Fog;g:aate Hseiil ngp He;;ilr‘gﬁ()p Ankle Strap Ankle Strap Ankle Strap Hardware
9 Single # - Right| Single # - Left Pair # Pair #
Large 1027000 1035929 1035932-NLA | 1035933-NLA 1035930 1035931
Adjustable Angle #5542 and #AT5543
Before 6/01/03
Heel Loop w/ | Heel Loop w/ | Heel Loop w/ Attaching
Fogtiggate Hgif‘l Ifg;p HeF()e;ilr_c;op Ankle Strap Ankle Strap Ankle Strap Hardware
9 Single # - Right| Single # - Left Pair # Pair #
3-1/4" Wide
Footplate 1018269 1036099-NLA | 1036097-NLA | 1036097-NLA 1036102 1036096
4-1/4" Wide 1018270 1036100 1027182 1027182 1036103-NLA 1036096
Footplate
5& 6-1/4" Wide 1030958-NLA 1036101 1036098 1036098 1036104-NLA 1036096
Footplate
7-1atWide | 59037 N/A 1069049-NLA | 1069049-NLA N/A 1036096

Footplate




Heel Loops and Toe Loops

After 5/31/03

Adjustable Angle Footplates - AT5543

Footplate Heel Loo Heel Loo Heel Loop w/ | Heel Loop w/ | Heel Loop w/ Attaching
Sige Sinale #p Pair # P Ankle Strap Ankle Strap Ankle Strap Hardware
9 Single # - Right] Single # - Left Pair # Pair #
E(gffﬁn\;\?)” 1018269 1036099-NLA | 1036097-NLA | 1036097-NLA 1036102 1036096
( 4_5152‘,","{,\/) 1025234-NLA | 1035905 | 1035908-NLA | 1035909-NLA | 1035906 1035931
(Qf'f&'.‘.‘\r}‘v) 1017621 | 1035917-NLA | 1053313-NLA | 1053314-NLA | 1053329 1035931
(65_32%?/\/) 1027000 1035929 1035932-NLA | 1035933-NLA 1035930 1035931
(;(-lL/Z'r'gvev) 1027000 1035929 | 1035932-NLA | 1035933-NLA | 1035930 1035931
AT5043 Flip-Up Aluminum
Heel Loop w/ | Heel Loop w/ | Heel Loop w/ Attaching
Hgif‘l Ifg;p HeF()e;ilr_c;op Ankle Strap Ankle Strap Ankle Strap Hardware
9 Single # - Right| Single # - Left Pair # Pair #
Small 10" 1018269 1036099-NLA | 1036097-NLA | 1036097-NLA 1036102 1036096
Medium 12" 1018270 1036100 1027182 1027182 1036103-NLA 1036096
Toe Loops
Toe Loop Toe Loop Attaching Hardware
Single # Pair # Pair #
04572X025 1037087 1037089




Heel Loops and Toe Loops
Heel and Toe Loop Attaching Hardware Kits

1035931 1036096 1037089
Kit Inludes:
(2) Screw, Phillips Pan Head Kit Includes:
(1/4-20 x 2-1/4") Kit Includes: (4) Screw, Phillips Pan Head
(2) Spacer 8) Screw, Phillips Pan Head (10-32 x 7/8")
(1/4 x 11/32 x 1-3/4") (10-32 x 5/16") (4) Washer
(2) Hex Nut w/ Nylon Cap (1/4-20) (8) Flat Washer (1/4 x 3/4 x 3/32")
(2) Flat Washer (4) Locknut (10-32)
(1/4 x 5/8 x 1/16")




